(4s 4
(CHEXT )

2 P FE BT

)= T N = 53

N

SR A 2ENERE (20 8) ¥

YN AN
= (e

FANEAL S 30

3 AN L B W 158 304
%1 0E 5% 2 7]
" NFLAT A filif . (C) FFAM i NFLAT A filif s (C) FFAM i
(BAZ:M) B) |60X {1-B)/FT&E M+ (BA7:H) B) |60X {1-B)/TE M+
filiA% ) filiA% )
R 7Y R o=7V 7 48, 200, 000
) vz TR
I (BR) pliiz)
IR 0 (BR) pliiz)
AR o Vv a2 Y (BR) 47, 620, 000
B A4 varyisr b 40, 100, 000 9. 1546 48. 1546
HARTE (BF) 40, 060, 000 9. 2054 31. 4054
EREAHEIT ALEN AL > 72 ZOFESEDO 1 1 050D 1 0 0ITHET L85 TH 2,
RSB HER S 2 ET) 44, 110, 000 14
TEAAS QHE B % BR<) 47, 320, 000 H
A LR (H B R 2R <) 39, 770, 000 M




B a R % AL ST 2B RFE A 2

¥ % 4 OM3EE LERY LZENERE (208) ¥ A& AT Dl AL 60 [AL
OB F B I WENRY A THEEST AT A i A 60 |5
A KL B :AmM34E5H12A e 1:1
FEATREAM A D NER 53 1#
it B
T IS 53
T EHME B S I\ i
& A
F i i i
N e A ‘ 0 i ¢ '
N i i = S = st
0. % % Zl ,%E% W‘g 5 })’@ 8 ,f; Cf?
& b £
b4 % &
17 33 50 50 50 — 100 60. 0
1 /<1Zk> T R =7 15 20 35 2 20 - R
2 | () v=x= A FLEER
3 [ FHHUEL (BR) 11270
4 N (BR) %)
5 |EfEHAE o L Z Ly (BR) 17 22 39 30 30 — T E AR it
6 | () #AvarHirrzr b 15 20 35 30 30 1 65 39.0 AL
7 |BARTE (%) 12 0 12 25 25 1 37 22.2
8
9
10
11
12

XAfiA% R =60 x (1— AFL{H#&.~ P E M)

(MRS EYIYIET)




